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1 Whatis the name of the part marked as ‘X’ in
DC generator? | 3T STelReX H X’ o &I H RIfgAT
13T T AATH T 57

Armature core | 3THTR B

Brush | sT9T

Commutator raiser | W:{I,?ETW
Commutator segment | Tﬂ:‘-}?ﬂ@g

o 0O v >

2  Whatis the name of D.C generator? | D.C

SToeT &l TH AT 8?2
A,
L g
1 I
LOAD

A Differential long shunt compound | FSwIRTer
Te-dT QI HUT3S

B Differential short shunt compound |
Sifrger oy eie Fifan

C Cumulative long shunt compound | aT &It
NEOIIEED

D Cumulative short shunt compound | Hﬂ?ﬂﬂg
NEOIIEED

3 Which rule is used to find the direction of
induced emf in D.C generator? | D.C STelel H URa

SUATK & {20 AT et & T fong o a1
39N FhT STAT B2

A  Corkscrew rule | ﬁ@ﬁm

B Right hand palm rule | &fger HEED
RCICINCRE]

C Fleming’s left-hand rule | Folf&aT & STT §TY T
G

D  Fleming's right hand rule | FITHT & gTfg
&g & faaH

4  Which formula is used to calculate the
generated emf in D.C generator? | D.C STelReX &

3¢l STHU shl IUTAT e o TolT fohdt G T
39T T SATAT 82

' | 3cTeeT SUATS = Nyon

Generated emf= —x—VoltI 3cUe SUAUG= @x Volt

P vort | 3w SUHTE = @XPM

Generated emf= 6§:¢X%V0It | 3_C|o—_<rré'QTl'Q'CF

Generated emf=

Generated emf= #

O 0o ®w >

60X¢ A

5 Whatis the formula to calculate back emf of a
D.C motor? | STHUE &Y I0UTAT lat hl T AT 572
T 3.4 Al

Ey = iVolts | Ep= IaVRa dree
Eb=V X |5 Ra Volts | E» = V x I, R, dlecd
Eo=V— I, Ra Volts | E =V — I, R, dlecd

Eo =V +1,Ra Volts | Ex =V + 3R, dTecH

o 0o v >

6 What is the name of the part marked ‘X’ in DC
generator? | DC Generator #’X’' & &9 # RIfgad

13T T TTH FAT &7

A Poletip | %H@TH’IE
B Pole coil | ii_l,_q'?:al%?ﬁ
C Pole core | T
D Poleshoe | tﬂ?—f?]\

7 Whatis the name of the D.C generator? | D.C

STeeT &l ATH FAT§?
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Shunt generator | gTe SFeX

Series generator | S0 SFeeX

Compound generator | I3 STeleT
Separately excited generator | 39T ¥ 3dfad

ST

L o—

O 0O v >

8 Which energy is converted into electrical
energy by generator? | STe¥ex GEIRY forg STt

fege oft 7 aRafda frar srar g?
A Heat | 3%AT

B Kinetic | rfaefrer

C Chemical | TOAfas%

D Mechanical | I3

9 What is the name of D.C generator field? | D.C
A FIes &l ATH FAT§?

P o

——— ]

LN

A  Short shunt compound generator | Fl"%r%l"cf
AR AR

B Long shunt compound generator | EICIE
FHAT3Z ST

C Differential compound generator | fd#gH
iR AR

D Cumulative compound generator | it

AR FeT

10 What s the principle of D.C generator? | D.C
SeeX T [Agia FAT 82

A  Corkscrew rule | Eﬁ#@jﬁ'&ﬂ

B Fleming’s left-hand rule | FXTHaT & STT &Y T

o
C  Fleming’s right hand rule | FITH3T & &Tfg
1Y & faaH

D Faradays laws of electromagnetic induction |

TS o1 e el Yraehrg URoT &7 s

11  What s the formula for dynamically induced

emf? | ITTARMTSl & & IR STATE & foT g T
g7

A BLVvolts | BLV @lee

B BLsin6 volts | BLsinf dlee

C BLVsin6 volts | BLV sin® dlec

D BLV cosB volts | BLV cosb dlee

12  Which rule is used to find direction of

magnetic field? | TSI &1 T FERAT AT H¥et
fore fore forgat s 39ter fhar Srar g2

A  Corkscrew rule | a:Té;w“ﬁun

B Right hand palm rule | GIfgsT &T2r T §UelT T
e

C Fleming’s left hand rule | q—ﬂﬁﬁ?aﬁﬂﬂ'ﬁ
IGRE

D  Fleming’s right hand rule | Tl & GIfgeT
BY I TITH

13  What is the name of the part of DC
generator? | STHT STAYCT & HTT T ATH FAT g2

A  Stator | T¢eX

B Pole core | i:'_l;a'a'ﬂT
C

D

Pole shoes | tff?—f%[\
Yoke (or) frame | T (JAT) vl
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14 How many parallel paths in duplex lap
winding of a 4 pole DC generator? | 4 GTeT 34T

SToREX o gCelehd oY ATS ST & fehclel HATIR

T &8?
A 4
B 6
cC 8
D 12

15 Name the part of DC generator? | 3T
ST o ST T ATH IdIST?

A Side end plates | H’I’{s’t’g‘fe{@

B Pole shoe lamination | W%Lmlﬂ
C Commutator segment | m@aa's'

D Armature core lamination | TR AR
AfAeerT

16 How interpoles are connected in a DC

generator? | 3T SeleX H Seuldl W@?E’Iﬁg?
A Inseries with armature | aﬁaﬁ:mm
H

B In parallel with armature | ImfRR F Ty
HATATAX H

C Inseries with shunt field | 27 HTes & TTT
HGeT H

D In parallel with shunt field | 7€ HTes & TTYT
HATATA H

17  What s the necessity of residual magnetism in
a self excited DC generator? | Ueh TaF 3cdiold

SIHT STeRET A RIS efehed T ATARIHT FT
g

A  Build up the voltage | arecot & fAHAT Y

B Reduce the field current | HhIes € HH Y
C Reduce armature current | TR T HA

Y

D Maintain constant output voltage | GRG

3M3cqe drec ol §ATT I

18 Which are the two points that the brush
contact resistance measured in D.C machines? | D.C

a7, 3 it T &Y foig & S srer doeh wiaRrer st
ATA8?

A Resistance between the opposite brushes |
fadra srer & g afeieyr

B Resistance between brush and commutator
raiser | STRT 3R gL TFoR & ofrar Ffcrer

C Resistance between brush and commutator |
ST 3N g e & ey yfarer

D Resistance between brush and armature

conductors | §TQT 31X TR e & §rd TTaRrer

19  Which voltage drop is indicated in the portion
marked as X? | ford decsT 31T T X & & 7

RIfgaa fFar g

& FULL-LOAD OURNINT

LOAD CUNPENT —["
L

Full load voltage drop | qﬁaﬁgaﬁmmﬁ
Armature voltage drop | 3R areesT urd
Armature reaction drop | WWQHS’W
Shunt field voltage drop | Qﬁtﬁlﬁaﬁmsﬁ'

O 0o w >

20 What is the name of the compound
generator, if the shunt field is connected in parallel

with armature? | HUT3S STl &l ATH FAT &, Tl
/7T IS TR o A1 FATA H 3T g3 &2
Long shunt compound | STeaT Q7E HUT3S

B  Cumulative compound | Y i
C Differential compound | [a%ice IR
D Short shunt compound | ﬂ%%ﬁm
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21  Why the armature core of a DC generator is

laminated? | It Teh 3T STelReX o ATHI PR
gefad g?

A Reduce the copper loss | cT3 gl &l el Y
B Reduce the friction loss | ST gTfeT ST e HL
C Reduce the hysteresis loss | TeEe R g1y &7
FHA B

D Reduce the eddy current loss | a3 &IRT gTfeT
Pl HH P

22  Why armature resistance of a D.C generator is

very low? | D.C WWWWWW
FT g?

A Reduce armature current | 3T YRT H Y
B Reduce armature voltage drop | 3R arecat
19 &l hA Y

C  Run armature with less weight | & dofel &
Y HTHR TeTT

D Reduce the temperature of armature | R
I ATIHTT HH HL

23 Why the D.C generator should runin
clockwise direction only? | D.C STeIeX &l G131 T

TR # &Y T TofeTr =g e?

A  Protect brushes from damage | WTQW
q g

B Protect the residual magnetism | 37aferse
Yeehed T I HT

C Avoid short circuit in armature | IR A Qe
e dad

D  Avoid over loading of generator | STel{eX
HTTHTRA T G &

24 Why compensating winding is provided in
large DC generators? | 93 31 STl H gHTICR
sfergfet ot sreTer Y S &2

A Connect more loads | 37T8I& &8 Shalde Y

B Reduce commutation effect | mgam SATd
Pl HH P

C Neutralize armature reaction effect | IMRR
gfaAfehaT T81Ta &1 9318 Y

D Increase the efficiency of generator | STel¥eX
I G&TelT JgTT

25 What is the reason for DC generator fails to
build up voltage? | 3T T & Ao ot T HHTOT

Aol H TAH gt T FAT HROT &2

A Loose brush contact | &Tel sTeT HIToTeT

B  Armature resistance is more | 3R gfaaer
AfRwE

C Field resistance is above critical resistance |

Hles FfaRTer sifas IR A Fw

D Prime mover is running at above rated speed |

TSH AR LS AT A TR AT @&

26 What is the name of generator, if its field is
connected in parallel with armature? | STeIeX T

oI T &, Afe; SHRT &1 TR o FATAICR ST
g3TE?
Shunt generator | 21€ STeeX

B Series generator | AU STeA¥eX
C Compound generator | i FelRe
D Self excited generator | T8I 3cd ol ofeleX

27 What s the purpose of pole shoe in DC
generator? | STHT STeleX H dlel QLEFI'B?Q?JI'ERJT%'?
A Reduce the air gap | TIX 3T &l T FY

B Increase the field strength | &= T dThd SGIT
C Minimize the magnetic losses | ﬂ'@l@'ﬂ'%‘lﬁ'&’f
P HH P

D Spread out flux uniformly in the air gap | TIT
3T 7 FATT T I Felard i thelrd

28 What is the function of split rings in DC

generator? | 31T SelReX # F&cere Rar &1 Fa1 py
g7

A Maintain constant voltage | R diecat
T T

B  Collects the current unidirectionally | §RT T
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T T & UhT T g
C Reduces the voltage drop at brushes | SIRTIT
ool 31Tl hH FIATE

D Increases the terminal voltage than rated |
1S & Jolol A AT dleest Ferar &

29  Which material is used to make brush in

generator? | STa¥eX H §T §aTe o ToIv fohg GraaiT
T 3YTNIT fhaT ST 8?2
A Steel and graphite | T&Tl 3T1Td,lun|$c

Carbon and graphite | COCE: 3ﬁTdAm|$c

B
C Castiron and graphite | GeTdl ailgT 3iR AwISE
D  Aluminium and graphite | Teg#HI=a#H 3T

30 Why DC generators are loosing their residual
magnetism? | FIT 31T STeXeX 379eT 3afrse
Ydehed TNl 67

A Heavy short circuit in load | R & Ay e
afehe

B Running without load continuously | [S=T &g
& SR Tl T o

C Continuous running without break | T=IT ¥ &

IR delall
D Change of direction of rotation very often |

Qe FI e 3R SeoldrT &

31 How does the magnetic circuit complete
through the yoke and poles in a generator? | Ush

SRR 2 2 3R ¢ ¥ AT & Gahr e
QU EIATE?

Field coils | ﬂ?i@?ﬁ'

Armature core | IR AR

Laminated pole core | Tefoid Giet SIX
Winding conductors in armature | IR H

s

O 06 w >

32 Why the terminal voltage decreases if load
increases in DC shunt generator? | ST 9E ST

H ol gt W il alocol ha FAT 81 ST g7

A Because of armature reaction effect | 3mRR

gfaferar gera & sroT

B Duetoincreased in armature resistance |
e SfeRte #F af & FRoT

C Because of brush voltage drop decreases | SIQT
Al I goig ¥ IREae HA G ST &

D Due toincreased in shunt field inductance |

e tes Wehca A g & RO

33  Which type of DC generator is used for long
distance distribution lines? | st g #T faeoT

ST 35 T Ry TR 3 St STt T it
frar Srar g

A  Shunt generator | e e

B Series generator | 0T SekeX

C Differential compound generator | IGE: D
AR A

D Cumulative compound generator | TRy

i3 STeeT

34 Which method is used to improve the
insulation resistance in DC generator? | Y

ST H gegol el TR Y JgR Tt & foIT
fora fafer s 39iter frar srar g2

A Replacing the brushes frequently | §T2T T SRR-
CIRCEYSOI

B  Heating the machine by running periodically |

AG-FAG IR 72N T ITH AT

C Cleaning the commutator segments regularly |
AR &9 @ gt QITHT T THIS AL

D Blowing hot air in to the machine during

maintenance | TEIWTT & &XTeT AT & I8 gar
ol

35  Which type of D.C Generator works in
absence of residual magnetism? | WW

& 37979 H 5T YT &7 D.C SR hTH FATE?
A Shunt generator | € STelReX

B Series generator | 0T SeleX

C Compound generator | ifarep STeex
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D Separately excited generator | 3TolT &

Scdfold STeiey

36  Which type of D.C generator is used for arc
welding? | 37T afegar & fow fFg R & D.C

ST T 3TN fehdT ST &2

A  Shunt generator | gTe e

B Series generator | Ao T

C Differential compound generator | ICECET
AR A

D Cumulative compound generator | Y

AR FeT

37 Whatis the property of wave winding in D.C

generator? | D.C STel¥eX & 3T arsf3ar fr favar
FATE?

A Low current low voltage | & YT &H diecol
B  High current low voltage | 3= YIRT hH
drecst

C Low current high voltage | & &IRT 3©d
drecst

D High current high voltage | 3T YT 3T
drecst

38 Whatis the purpose of resistance wire used in
the commutator connection in D.C generator? | D.C

STeNeT H hegeed HAIeT ﬁugerd giaT dR &1
3T FATE?

[ « [ & | &« [ 4« |

A Maintain constant voltage | TId alecst 1T
Rec]

B  Nullifying statically induced emf | Q]\Fil'lzﬂm
7 @ 9RT STATH

C Increasing statically induced emf | Tdfaes &7
T 9RA STATE ST

D Smooth reversal of current direction | €I

T T 3T § Tl

39 Why solid pole shoes are used in D.C
generator? | D.C STeieY H B Glef [ &l 3UTT

T fohaT ATAT 2

A  To reduce the copper loss | Hﬁ?o‘flﬂ'lﬂﬁ

HH I & T

B Toincrease the residual magnetism | 3T@frse
Jeehcd I o1 & folw

C Todecrease the residual magnetism | 37aferse
eehcd &1 HH el & [T

D To reduce the reluctance of magnetic path |

YT 9Y & Rl dq 1 Al el & faT

40 Which metal is used to make large capacity

DC generator yoke? | 3T &THdT o 31T SoieX Il
SeATet & forT fohd eITe] 1 3UANaT foham ST &7

Cast iron | &oIdT &itgT

Soft iron | uTJfI'FﬂET

Aluminium | Wﬁ'&ﬂ

Rolled Steel | o8 Tl

O 0o v >

41 Whatis the function of split ringsin a D.C

generator? | 3T T STeleX H el Req & Far
T E?

A Supplies output continuously | edTTdX
3MM3EYE I Tl

B Makes output in the uni direction | Tah fgem &
3MM3CYE FATAT &

C Makes output in the opposite direction |
Tl e # 3m3eqe wear g

D Collects the output from alternate conductors
| Tl ShseFel A IMIEYE Tehe AT

42  Which type of voltage is induced dynamically
in a D.C generator? | D.C STeleX H Thg Yah T

drecat Afaele &7 @ ARG grare?
A Pulsating voltage | TedifeaT dlecaT
B Oscillating voltage | GreleTeiTel alecot
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C Alternating voltage | JcaTddr alecsl

D Direct current voltage | IcI&T ¥IRT dlecal

43  What is the purpose of slot marked as ‘X’? |

X & &9 7 RIfEaa Tolle a1 3T FaT8?

n) Q
b

A  To fix the key way | @ﬁaﬂw&mwﬁ%
faw
B To make air circulation | a’rgrqﬁﬂwamﬁ
CACIY
C  For lubrication purpose | gl 353 & folT
D  For easy removal from shaft | Qe & 3THTAT
Hges & fow

44 What is the purpose of field coils in D.C
generator? | D.caaiwﬁch?s'ﬁsaamﬁw
FATE?

A Toincrease the flux in air gap | RATH
TFelehd &l TGTe o Tl T

B To decrease the magnetizing current |
HIACTSTSIT T T FHA LA o foIT

C To magnetize the poles to produce coil flux |
Sl FeleFH ohT A ATOT et o forT gt
FFaIfohd AT

D Toincrease the reluctance of magnetic path |

AT 2y &y Ry 1 gy & Fayw

45  Which metal is used to make pole core of

large DC generator machines? | a%*ém’raaia
TR 35 T R T 3 TN R T 3
forar Smar &

A  Softiron | o_-DfTFﬂ?T

B Castiron | &ofal &gl

C Cast steel | Tofal SEIATT

D Stainless steel | Tl d Tlel

46  Why the pole core stampings are laminated in

DC generator? | &3 9iel ShIX TCITUIT BT STeTReX
H gefod #d §?

A Reduce the friction loss | ETOT &TfeT ST e Y
B Reduce the windage loss | fa3T oIl & e
o

C Reduce the hysteresis loss | g€ R gTfar &1
FH B

D Reduce the eddy current loss | $7aX &TRT g1
P HH P

47  Which type of DC generator is used for
electroplating process? | E@IEE:ICQE'?I gfpar &

fore fora g & ST STeex 1 39eT foram Sirar
e?

A  Shunt generator | eI e

B Series generator | 0T SelReX

C Differential compound generator | IGE:
AR A

D Cumulative compound generator | TRy

i STeeT

48 What is the purpose of compensating winding
in DC generator? | 3T STl H hFqadTed

BT T T FAT 82

A Minimizes rough commutation | FSR

HFGLAA HH FIAT G
B Maintain constant output voltage | [&ad

33eYC dlecs 9T I
C Neutralizes the demagnetizing effect |

fAFarhTaRoT TTTa T AR A ST &

D Decreases the excitation current of field coils |
&1 Bl hT Scclolel TR I TEIATE

49 What is the effect if the shunt field resistance
is above critical resistance value in a D.C generator?

| I 2re Bres Fiary sifde ITaiy A 8 30
¢ A T IHTT 93T &7 D.C FeAe?

A Output voltage is pulsating | 3-1131"31"3}!@?
geafeaTy
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B  Output voltage is above normal | 3-1I3quE

dlecol AT A I g

C  Generator fails to build up voltage | STeXeX
oSt Jllel H [AHl T

D  Generator builds up voltage normally | SeleX
TATT &9 T dlec ol dTdT &

50 Whatis the effect of armature reaction in DC

generator? | 31T STe¥e H 3R yfafhar sr
JHTT FAT &2

A Output voltage increases | 3413'63'631?&3[
Sedre

B  Output voltage decreases | 3413?3331?83[
RA B SATATE

C Output voltage is pulsating | 3-113'6%?."3’!@\_:[
TafeT g T

D Output voltage will become zero | 3-113?1'%1"
alecst A3 &1 STam

51 Calculate the emf generated in a 4 pole DC
generator with simplex wave wound armature has
1020 conductors and driven at a speed of 1500 rpm,

the flux / pole is 0.007 webers? | RFTeled aa
Jr33 HTFHTR & AIY U 4 Grel ST STeARe H 1020
sy & 3R 1500 IRYITH S 77 & FaTfad g,

ol / Aol 0.007 ISR §; 3cdTiGd SUHUK &l
ITOTT ?
A 178V
B 243V
C 357V
D 428V

52 How the effect of armature reaction can be
neutralized in large DC generators? | 9 14T

ST H TR GTATHAT & FeTd I 8 S311
RaT ST HSAT 8?2

A  Using compensating winding | FeEgeTafcaT
ATSTSIT ShT IUITT HleAT

B Providing additional inter poles | Hﬁlﬁa-?rga'{
el FeTeT el

C Increasing brush contact resistance | ST TS

FTRIT Gl
D Adding resistance wires with winding | EI'IE%W
o 1y 9faRTer art i Ssar

53 What s the effect in D.C generator, if it is kept
ideal for long time? | D.C STeAXeX H T THTT gIdl

€, 39 35U ol AT doh 8¢ QT SITU?

A  Field coil resistance increases | tﬁlﬁ?ﬂ?\f'g'a?—r
fae &6 ST &

B Armature resistance increases | 38X

gl ST g

C Increase the armature reaction | IR
EIGIERIEET]

D Looses its residual magnetism | 379 37afAse
qaehed T W ST &

54 Calculate the induced emf of 4 pole dynamo
having 1000 rpm lap wound and total number of
conductors is 600, the flux / pole is 0.064 wb? | 4

it STIAT & IR STHTE fY I0TAT HY, 1000
3TRUAITH ol a133 R hgeFex] T ol TEAT 600 &,

Folard / 9iel 0.064 wb &7
A 160V
B 320V
C 480V
D 640V

55 What is the effect on induced emf if the main
field flux get distorted in DC generator? | Hﬁﬂ@

&Y T YT ST SToeX H faehd g1 e, ar IRd
SUHAUD R FIAT THT USdT 2

A  Induced emfincreases | IRd EMF EEFIT%'

B Induced emf decreases | Qﬂﬁmm%
C Nochangeininduced emf | Qﬁﬂ'éﬂmﬁ'
IS TColTd oAeT

D Induced emf becomes zero | Qﬁ?l’é?m
IR ST E

56 What is the cause for heavy sparking in

brushes of DC generator? | 31T A & A H
Y TATTehaT ST HIROT AT &2
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A Short circuit in field winding | BTes arsf3ar & Answers:
31 wfe 1-C|2-A|3-D|4-C|5-C|6-D|7-D|
B  Short circuit in armature winding | IR

o7 3 ot T 8-D|10-D|11-C|12-D|13-D | 14-C]|
C  MNA and GNA position changed | THTAT 3iR 15-D|16-A|17-A|18-C|19-C|20-D |
ShuaTT T sger 315 21-D|22-B|23-B|24-C|25-C|26-A|
D  Too much spring tension at brush | T2 s & 27-D|28-B|29-B|30-D|31-B|32-A|
H 9gd i f&er daira

> 33-D|34-D|35-D|36-C|37-C|38-D|

39-D|40-D|41-B|42-C|43-A|44-C|
45-C|46-D|47-A|48-C|49-C|50-B |

51-C|52-A|53-D|54-D|55-B|56-C|
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